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Algebra- Factorise

Q1. Factonseby finding the commeon factor

a. 2x+4 b. 3d+ 0 c. 65+ 3 d. 12x+4

€. & +9a f. 25+ 8 g. 5v+10 h. 10+ 15¢

i 12x+ 16 J- 18m+24 k 30+36a L 14y+ 21
Q1. Factonseby finding the commeon factor

a. 3x-6 b. 4y-2 c. 16— 8a d. 10c-15

€. O5—12 f. 26— 14 g 12x-20 h. 22m—33

i 15x—-10 i- 18- 12y k 256-20 L 184-30

Q3. Factonse by finding the commeon factor

a. 2a+4b b. 10x—-12y ¢ 18m+24n  d 10c+ 1534
e. ba— 9x f. 18:-12¢ g 12x+ 13y h 14a-75
i. 23c+10d . 0b— 15y k. 18x+ 24y L 6a+ 285
Q4. Factonse by finding the commeon factor
a. ar+ay b. xt+xat c.  pgr+ pst
d.  xay- bac e. pgtp f Wty
g. o —ab h. ab— be i n—3n
i Xy + 37 k abc—abd 1 feh—efz
Q5. Factonse by finding the highest commeon factor
a. 2ax+ ba b. 3y + 92 c. 24a— 16ab
d. gl —pg €. 12xy—9x= f 65— 4B
g 3at+27ah h. 15abe+ 20abd i. 35— 95
i 14x— 12xyz k 1082 —15bed L 2mrd+ 2urh
Q6. Factonse
a. ap+ag—ar b. 2a+ 2b+ 2c C. be—2f+4dg
d. P+ pg+ap €. Sab—6be-9bd f Yoagh+ Y2 bh+ Yach

g. 5x2 — 8xy+ 5x h. dac+ 6ad-10a? i 1502+ 10pg+20ps

(7. Factonse

. N . T . . -
a. abc—a‘bd b. a-a'-a C. 2xt = 50x+ 12xy
i 5 =7 - 5 5 Yo
d. xf+ x4+ 22 €. 25p-+13pg+10p £ x<yz+ ey + bxy*
A 3 1 1 3 n ' T g
g 3@+ 92— ba h. abx+ bex— becy i Yagil =Y g+



Algebra Factorise
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2x+2)
32+ 3a)
43x+ 4
3x-2)
3(3:-4)
5(3x—2)
Na+25)
3(2a - 3x)
S(3¢ + 24)
alx + ¥)
plg+1l)
n(n— 3)
2a(a+ 3)
3x(dy —3z)
-3
alptg+r)
plp+g+x)
wWix -8y +3)
@blbe — ad)
it +xt+ 1)

3ale® + 3a8-2)

b.
f
J
b
f
J
b.
f
J
b
f
J
b
f
J

Id+ 3 C. 3(2s+1)
2b+4) g Sy +2)
6(3m+4) k. 603 + 6a)
4y-2) C. 82 -a)
26—-T g 43x- 3
603 — 2y k. 556 -4
203x + 6y) C. 6(3m +4n)
63z -2 g. Jdx+5)
33k-3 Lk 6(3x + 4y)
WP +a) e plgntad
My +1) g ala-b
Wx +y) k. ghlc-a)
IMl+3) e 8a(3 - 28)
2636-2) g Jala+9h)
7T-6=) Lk Sbo(2b — 3d)
b. Ha+b+c) C.
e IMa- 2c-34) f
h. 2a(lc + 3d - 3a) i
b. aad—a-1) c.
E. 5p(3p+3g+12) f
h. Mex + cx —cy) i

d 43x+1)
h 52 + 3¢)
1 T2y + 3)
d 52c-3)
h 12m-3)
1 6(3d-3)
d. S(2c+ 34
h 12a—- &)
1 2(3a+ 145
d alxy — be)
h Ma—c)
1 folh—e)
d  pglg-1)
h. Sab(3c + 4d)
1 2nr(r+ A)
23e~/+2g)
Yela+ b+c)
ip{Ep +2g+4s)
2x(x —25 + 6y)
xxz tat by)
vgl-1)



Percentages
m Percentages - no calculator g

1. Find each of the following without a calculator :-

a 10%offt24 b 30%of £420 e 20% of $556 d 33%—1‘.’:#690@

e 2B%off£32 f 75%ofbOm g ﬁﬁ%%ﬂf.’]‘?km h 5% of $600

i 3%of £7 J EE?E.:JF?(*]G k 2Bb%of160cm | 356%of €700

2. a A shop is giving a 20% discount on
a £240 exercise bike.

How much is the bike now ?

b Julian cycles 30 km per day every day.
He iz going to reduce this by 16%.
How many km will he cycle next week ?

3. A bonk pays an annual rate of 5% interest on their High Fliers account.
Gaz leaves £4800 in his account for a year.

How much interest will he have after :-

a oneyear b six months ¢ three months ?

4. Five hundred students were asked their favourite take away.

40% - Pizza 36% - Chinese 20% - Indion  the rest - Chip shop
How many students chose :- a Chinese b Chip shop ?
_ ()
m Percentages with a calculator z==-
1. Find using a calculator :- (Show all your working)
a 23%of 136 km b 76%of T8 kg ¢ 19% of 320m
d 3856%of £700 e 06%of $1260 f 12:6% of €40

g 9% of £340 h 111% of 750 km i 37T%of £10.



Percentages

2. a A farmer has 3200 chickens. 32% have caught a virus.
(il What percentage of chickens do NOT have a virus ?

(i) How many chickens do NOT have a virus ?

b Minety percent of the chickens produce an egg every day.

How many eggs are produced every week ?

¢ 2'6% of the weekly produce has to be destroyed.
How many eggs are destroyed ?

Last Movember, Morma weighed 64 kg.
After Xmas, her weight had increased by 9%.

What was her weight after Xmas 2

4, Twins Joe and Jack are sales directors whe earn £28 000 each.

+ Joe is given a wage rise of 7-5%.
* Jack has his wage reduced by 4%.

How much mere does Joe now earn than Jack ?

m Linking fractions, decimals & percentages I-_:T \/
ozalla

1. Change each of these fractions to percentages. correct to 1 decimal place :-

u%— h?lr :% :I—IE?DE—.

2. Heather scored the following in four tests :-

Maths - -%%— English - -Eﬁ-

French - %—%— Music - -1%-

Change each test mark into a percentoge.
Which was her best score ?

3. Re-write the following in order, smallest first :-

a 0B, 47%, % 0-49 b 45%of £72, %uffﬂﬂ. 0-04 x £804.



Percentages

Revisit - Review - Revise Exercise ba T 7|

1. Change each of the following into a fraction in its simplest form :-

a

-4

50% B 26% e 76% d 33333..%
60% f 70% g bH% h  T7%

2. Change each of the following to a percentage :-

a

<

043 b 009 e 03 d 0225
£ f = g 125 ho1d.

David gets a 10% increase on his £1640 monthly wage.
How much does he now earn ?
Angela has her £640 weekly wage decreased by 15%.

How much is her weekly wage now ?

Revisit - Review - Revise Exercise 6b If|

1. Find using a calculator :- (Show all your working)
a 27% of 2300 km b B7% of 18 kg ¢ 13% of 608 m
d 275% of £1100 e 03%of $4500 f 106% of €400
g 075x£340 h 01x550 kg i 0005 x 8600
i §of $810 k = of 8855m | & of 520 km,

a

4. A car costs £8600 cash.
VirgoCars let you pay a 16% deposit and
36 monthly payments of £224-35.

How much cheaper i it to pay cash ?

2. Keith earns £18 400 per annum as a plumber.
How much would he earn if his salary was :- '

increased by 17% b decreased by 9-6% ?

SpotsAlive buy football strips for £25.
They intend to sell them at a profit of 28%.

How much should they sell each strip for ?




Answers

Exercise 1 - Percentages - Mo Calculator

1

e

B e 8 - an

£2-40
£8
2lp
£192
£240
175

b
[
i

b
b
b

£126 o $11 ¢ 230 kg
375m g 26km h $30

1540 Kk 4com | €245
1785 km

£120 ¢ £60

23

Exercise 2 - Percentages with a Calculator

1. o 3128kmb 5928kgc 60Bm
d £26950e §756 f €5
g £3060 h 8325kmi 37p
2 o (i) 88% (i) 2176b 20160 504
3. 6976 kg 4 £3220

Exercise 3 - Linking Fractions, Decimals % %hages
1L a667% b 143% o 789% d I775%
2. a Maths - 83%. English - 81-25%.
French - 73-3%. Music - 70%
b Maths (obviously)
3. a 4T%-2%/s0-049-05
b 2/3 of £48 - 004 x £804 - 45% of £72

Review - Revisit - Revise Exercise Sa

1. alfz b /s c s d L3
e /8 f /w g Vo h /00
2 a 43% B 9% c 30% d 225%
e 6666.% f 80% g 125% h 130%
3 a £1804 b £544

Review - Revisit - Revise Exercise 6b

1 o £621 b 1026kgc 7904m
d £30250e $1350 f €420
g £255 h S5kg i 43
j $540 k 708&m | 480 km

2 o £21528 b £16652

£32

4 £852460

=



Algebra
==n

1.

Multiply out the brackets :-

a 2(a+h) b 3(x+2)

e 2(x-3) f B(n-2)

i B(m-4) j 201-u)

m da+ b) n 2(c+d)
20(3 + x) r 30(4-w)

Remove the brackets :-

a 2(3x+1) b 2(4a+3)

e 7(7Th-2) f 8(5-4n)

i 2(bb-4c) ] 7(10k-2p)

m ww-1) n ala-3)

q p3g+r) r Ba2 - 4a)

u  B(2v+ow+8y) v 3(bx-2y-4z)

Rewrite the following without brackets :-

a -3x+1) b -2(a-5)
e -6(p-q) f -x(x+7)
i -KTk-1) j  -4e(2e+10)

Write the areas of these two rectangles :-
(Al units are in centimetres).

a

X+ 6

= WD (2]

=]

= W 2]

=]

6(g+1)
8(p-1)
7(2 - x)
B(m- n)
100(a - 3)

3(1+ 54d)
6(5a+y)
Xy +2)
pl-p)
2u{10u - ¥)
10(p+ q-4r)

~(m+ n)
-p(1+p)
-x(3y - 8x)

with brackets

-+ O

x =+ O

(THIN]

x

7(m+4)
10(t- 4)
15(2 + K)
10(d - e)
50(g - 6).

4(3 - 5K)
2(67+22)
a(b - 8)
X2 + x)
2(3a+ 2b+ 1)
8(3u- 5v-9).

~(m-n)

h -2w(w+9)

-7 (p- 109).

(i) without brackets.
10-a




Algebra

1.  Multiply out each bracket :-

a 3(x+4) B Tly-3)

e yy+2) f kk-3)

i -3(g+B) § -4(2t+6)
m -yy+T) n -h(h-3)

2. Write down the area and perimeter

of this rectangle -
a using brackets

b without brackets.

m Breaking Brackets

Lj]

r W

5(2k + 5) d 16y-7)
u(3u+4) h 3r(3r-4)
-5(j - 2) I -2(3f-8)

2w 2w+ 1) p -Bk(3 -4k

g

Ix+ 4

m Breaking Brackets and Simplifying

1.  Multiply out the brackets and simplify fully where necessary -

a Blk+2)+3

d B+2(f+3)

g Iw-1)+2(w+1)

J Iw-(w+4)+2(2-w)

I 3p+2(4p-6)-(9p+12)

2. Caleulate the shaded
area of the rectangle
shown, in terms of v

b

e
h
k
m

B(2y+ 4) -12 e T(3e-2)+11
11-3(3+w) f 16-(g+15)
42y -3)+ B[4y + 3) i 2(4r+3)-6

4(3y+4)-2(by-1)-18
B(3-2m)+3(2m-6)-4(1-8Bm)+2m+7.




Solutions

Exercise £ - Breaking Brackets

1. a 3x+12 B Ty-21
¢ 10k+25 d 6by-77
e yi+2y f k2-3k
g Ju+12u h 9rz - 12r
i -3g-13 j -ot-24
k -5+ 10 | -&f+16
m -p2- Ty n -hz+3h
o 4w - 2w p -15k+ 204K

2. a Az2Z2x(3x+4) b A-bx?+B8x

Exercise 3 - Breaking Brackets & Simplifying

1. a 5k+13 b 16y+20c 2le-3
d 2t+14 ¢ 2-3w f -g
g Jw-1 h 28y+3 i @&r
j 0 k 2y
| 2p-24 m 30m
2. Az2¢(Oy-8)-woy-11=10y2-loy-6y2+y
A= 4yt - 13y



